M@@ﬁ@%@;ﬁ

Rerdweare™

Date

December 2019

and subject to change.

©2019 Spectrum Brands, Inc.

B
! i
N
\-{/
=
=7
~
E
DIMENSION IN & MM
CATALOG | STOCK # (SKU) DESCRIPTION SEDAAT B c 5 g PACKAGE STYLE| QPP | SWL
D12 114 3-3/4 | 1-1/2
2151BC | N220-772 1/4X3-3/4 LS EYE [12.7] 6.4] | [053] | [38.1] TYPE A#18-19 | BOX LOOSE 1 120
D12 114 3-3/4 | 1-1/2
V2151 N197-228 1/4X3-3/4 LS EYE SS [12.7] 6.4] | [053] | [38.1] TYPE A #18-19 | VISUAL PACK 1 120
D12 114 3-3/4 | 1-1/2
V2151 N100-189 1/4X3-3/4 LS EYE [12.7] 6.4] | [053] | [38.1] TYPE A #18-19 | VISUAL PACK 2 120
13132 114 5 1-112
2151BC | N220-780 | 1/4X5 LAG SC EYE SS [13.7] 6.3] | 127.0] | [38.1] 9 TPI TYPE AB | BOX LOOSE 1 120
@518 5/16 4 1-3/4
2151BC | N220-798 5/16X4 LS EYE SS [15.9] [7.6] | [101.6] | [44.5] SCREW #3/8-7 | BOX LOOSE 1 190
@518 5/16 4 1-3/4
V2151 N197-236 5/16X4 LS EYE SS [15.9] [7.6] | [101.6] | [44.5] SCREW #3/8-7 | VISUAL PACK 1 190
@518 5/16 4 1-3/4
V2151 N100-178 5/16X4 LS EYE SS [15.9] [7.6] | [101.6] | [44.5] SCREW #3/8-7 | VISUAL PACK 1 190
@314 3/8 4-1/2 2
2151BC | N220-806 3/8X4-1/2 LS EYE SS [19.1] 0.2] | [114.3] | [50.8] SCREW #7/16-7 | BOX LOOSE 1 275
@314 3/8 4-1/2 2
V2151 N197-244 3/8X4-1/2 LS EYE SS [19.1] 0.2] | [114.3] | [50.8] SCREW #7/16-7 | VISUAL PACK 1 275
@314 3/8 4-1/2 2
V2151 N100-166 3/8X4-1/2 LS EYE [19.1] 0.2] | [114.3] | [50.8] SCREW #7/16-7 | VISUAL PACK 1 275
Material: 304 Stainless Steel
1 DO NOT SCALE See Table See Table
Revision Dimensions are nominal Family Name SKU

Description

EYE, SCREW, LAG, 2151




	Sheet 1
	Views
	new_view_4
	new_view_5



